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QUESTION 1

Given the code fragment: 

Test.java 
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Which is the result? 

A. Compilation fails in the Employee class. 

B. null : 0 : 0 Jack : 50 : 0 chloe : 40 : 5000 

C. null : 0 : 0 Jack : 50 : 2000 chloe : 40 : 5000 

D. Compilation fails in the Test class. 

E. Both the Employee class and the test class fail to compile. 

Correct Answer: E 

 

QUESTION 2

Given: 

What is the result? 

A. 2 4 6 8 10 12 

B. 2 4 6 8 10 12 14 

C. Compilation fails 

D. The program prints multiple of 2 infinite times 
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E. The program prints nothing 

Correct Answer: B 

 

QUESTION 3

Given: 

What is the result? 

A. 3 4 5 6 

B. 3 4 3 6 

C. 5 4 5 6 

D. 3 6 5 6 

Correct Answer: D 
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QUESTION 4

Given the code fragment: 

What is the result? 

A. 1 3 5 7 1 3 

B. 1 2 1 3 

C. 1 3 1 3 0 0 

D. 1 3 followed by an ArrayIndexOutOfBoundsException 

E. Compilation fails. 

Correct Answer: B 

 

 

QUESTION 5

Given: 
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A. a, e i, i 

B. a, e o, o 

C. e, e i, i 

D. a, a o, o 

Correct Answer: A 
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